
 

 

 

 
AUTOMATIC CENTER CABIN DOOR 

INSTALLATION MANUAL 

 
 
 

                       

  

 

 

 

 

 



FR03.236 / Rev No:00 / Rev. Tarih : 

All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 

 

1  

Contents 

Warning and Suggestions .......................................................................... 2 

1. Introduction .................................................................................. 3 

  1.1. Shipping and Storage Suggestions ................................................ 3 

  1.2. Usage Manuel and Maintenance Instructions ................................... 4 

     1.2.1.  Usage Manual ............................................................................. 4 

     1.2.2. Maintenace Instructions ............................................................. 4 

2. Parts List ....................................................................................... 5 

3. Installation .................................................................................... 5 

  3.1. Assembly Of Skate to the Mechanism ............................................... 5 

  3.2. Assembly Of Mechanism to the Car Ceiling ....................................... 6 

  3.3. Assembly Of Panels to the Mechanism .............................................. 8 

  3.4. Connection Between Panels and Lower Sill ...................................... 9 

  3.5. Assembly of Manuel Door Lock Opening Device .............................. 10 

  3.6. Lock Detail ...................................................................................... 10 

  3.7. Card Connection To Lift Control System .......................................... 11 

 

http://www.hasasansor.com/


FR03.236 / Rev No:00 / Rev. Tarih : 

All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 

 

2  

Warning and Suggestions 
 

 

 

 

 
 For long service life and to ensure that your installation has 

a foultless, please read carefully and follow the introductions. 

 

➢ Only the qualified staff should make the instalation. 

                

➢ Distribution and any partial or whole reproduction of all the instructions, 

informations, details and drawnings which are mentioned in this manual 

requires permission from HKS HAS ASANSÖR A.Ş.  

 

➢ Dimensions are given for referance. HKS HAS ASANSÖR A.Ş.  keeps the right 

to make any changes without notice . 

 

➢ The manufacturer HKS HAS ASANSÖR A.Ş. will not hold any responsibility for 

possible damages arising from improper use of the product. 

 

➢ Keep this manual as long as you use the product. 

 

➢ The warranty of these products valid for 2 years. 

 

➢ Thank you for your attention and prefer our products.

http://www.hasasansor.com/


FR03.236 / Rev No:00 / Rev. Tarih : 

All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 

 

3  

1. Introduction 
 

This guide is explaining how to assemble car door which was produced by Has 

Elevator. Also we prepared this manual step by step to simplify installation of car 

door for our valuable customer. 

 
For easy installation please read this manual carefully before installation and 

follow instruction step by step. It includes important information and clues. 

 

This guide was prepared for general car door model.Please contact the 

manufacturer for models with varying. 

 

1.1. Shipping and Storage Suggestions 

 
• These products were produced for exclusively use in Elevator Industry. 

• The manufacturer HKS HAS ASANSÖR A. Ş. will not hold any responsibility 

for possible damages arising from improper use of the product. 

• To ensure that only the qualified staff should make the installation. 

• Make sure that the staff are trained on first aid. 

• Improper use of the product and unauthorized changes may cause injury 

and damage to the product. 

• Distributions and any partial or whole reproduction of all the instructions, 

information, detail and drawings which are mentioned in this manual requires 

permission from HKS HAS ASANSÖR A.Ş. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

http://www.hasasansor.com/


FR03.236 / Rev No:00 / Rev. Tarih : 

All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 

 

4  

 1.2. Usage Manuel and Maintenance Instructions 
 

 1.2.1.  Usage Manual 
 

1) Always check whether the cabin is on the floor before entering 

2) When door starts to close, do not stop it by any means.  

3) Maket he maintenance according to standards. 

4) Only the qualified staff should make the instalation.  

5) Keep this manual as long as you use the product. 

6) Prevent the children younger than 12 years old to enter the elevator alone.  

7) Obey the writen instructions of the instalation / maintenace company when 

stuck between floors.  

8) To prevent possible damages when handling use forklifts.  

9) Do not try to open the doors in different ways than instructed. 

10) Be sure that the product is not damaged in transportation. 

11) The manufacturer HKS HAS ASANSÖR A.Ş. will not hold any responsibility for 

possible damages arising from improper use of the product. 

 

 1.2.2. Maintenace Instructions 
 

1) Always clean the chanels of the sill with grease and don’t forget to dry it.  

2) Do not step on any part of the mechanism.  

3) To prolong the life of the hanger wheels, keep the top track clean.  

4) Never apply grease to top tracks.  

5) Periodicaly chek the wheels and tracks to prevent vibrations and wear.  

6) Periodicaly chek the steel rope that gives move to panel if it has sings of 

wear.  

7) Only the authorised companies qualified staff should intervene to mechanism.  

8) Peridicaly check if the distance of the electric contact just before closing is 

7mm and after closing is 14mm. (EN 81-20 5.3.9.1.2) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

http://www.hasasansor.com/


All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 
FR03.236 / Rev No:00 / Rev. Tarih : 
 

 

5  

2. Parts List 
  

 
Figure 1 

 

This guide was prepared for our valuable customer to simplify installation of Has 
Elevator car doors. Assembly manual includes general concept of car door 

assembly. Please contact with manufacturer for models with varying. 

 

  

3. Installation 
 

3.1. Assembly Of Skate to the Mechanism 
 

For our valuable customer to simplify   installation we already assemble skate 

with   belt. You just need to assemble skate with mechanism by using M8 x 20 

bolts and M8 nuts as it described in figure 2. 

 

No Part Description QTY 

1 Door Mechanism 1 

2 Skate 1 

3 Door Panel 2 

4 Lower Sill 1 

5 Bracket 2 

6 Guide Shoe 4 

7 Hanger 4 

8 Manuel Door Lock 
Opening Device 1 

http://www.hasasansor.com/


All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 
FR03.236 / Rev No:00 / Rev. Tarih : 
 

 

6  

 
 

Figure 2 

 
 
        Figure 3 
 

After installation ensure that skate is vertically. Besides as it described in figure 3 

make sure the gap between skate and landing sill is 10 mm. 

 

 

3.2. Assembly Of Mechanism to the Car Ceiling 
 

As it described in figure 4 assemble mechanism to car ceiling with fasteners.  

http://www.hasasansor.com/


All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 
FR03.236 / Rev No:00 / Rev. Tarih : 
 

 

7  

 
  

         Figure 4 

Assemble mechanism according to dimensions in figure 5 and 6. Before finishing 

installation check levelness and vertically of mechanism. 
 

 

 
                                                  
 

 
 
 
 
 
 

 

 
 
 
 
 

Figure 6 

 
 
 
  

http://www.hasasansor.com/


All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 
FR03.236 / Rev No:00 / Rev. Tarih : 
 

 

8  

3.3. Assembly Of Panels to the Mechanism 

        
Before installation of door panels connect hangers with plate. As it described 

in figure 7 assemble door panels with plate by using hangers, M8x20 bolts 

and M8 flange nuts. As it described in figure 8 distance between panels with 

sills and car entrance panels should be 5   mm. 

 

 

 
 

 

 
 
 

 
 
 

 
     
 

 
 
 

 
 Figure 7                      Figure 8 

 
 

 
 

 
                                                        Both plates should contact with switch. At the 
                                                        same time the gap between door panels  

                                                        should be 3 mm. 
 

 
 
 

 
 

 
 
 

 
 

                                Figure 9 

 

 

 

 

 

 

 

 

 

http://www.hasasansor.com/


All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 
FR03.236 / Rev No:00 / Rev. Tarih : 
 

 

9  

3.4. Connection Between Panels and Lower Sill 

 

 
For efficient and quiet operation door panel 

must be parallel with landing sill. Adjust door 

panel as required. Then insert guide shoe in sill 

and assemble panels with sill by using M8x15 

flange nuts and M8 washers as it described in 

figure 10. 
 

 

 

 

 

. 

 
 
 
 

 
                                                                                Figure 10 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

http://www.hasasansor.com/


All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 
FR03.236 / Rev No:00 / Rev. Tarih : 
 

 

10  

3.5. Assembly of Manuel Door Lock Opening Device 

 
Assemble the lock opening 

device which are supplied in 

package as described in 

detail pictures. This device 

used for opening cabin door 

from outside manually. (EN 

81-20:2014 5.3.15.3) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Figure 11 

 

3.6. Lock Detail 
 
 

Electrical safety device 

will not be activated 

unless the locking 

elements engaged by at 

least 7mm. 

(EN 81.20:2014 5.3.9.1.2) 

 
 
 
 

 

 

Figure 12 

 

 

 

http://www.hasasansor.com/


All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 
FR03.236 / Rev No:00 / Rev. Tarih : 
 

 

11  

3.7. Card Connection To Lift Control System 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

 
 
 
 

http://www.hasasansor.com/


All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 
FR03.236 / Rev No:00 / Rev. Tarih : 
 

 

12  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

http://www.hasasansor.com/


All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 
FR03.236 / Rev No:00 / Rev. Tarih : 
 

 

13  

 

http://www.hasasansor.com/


All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 
FR03.236 / Rev No:00 / Rev. Tarih : 
 

 

14  
 

http://www.hasasansor.com/


All rights reserved © 2017 HKS Has Asansör A.Ş. 

www.hasasansor.com 
FR03.236 / Rev No:00 / Rev. Tarih : 
 

 

15  

 
 
 
 
 
 
 
 
  
 
 
 
 
 
 
 
 
 
 

http://www.hasasansor.com/


 

 

 

 
 

 
 
 

 
 

 
 
 

 
 

 
 
 

 
 

 
 

 
 
 

 
 

 
 
 

 
 

 
 
 

 
 

 
 
 

 
 

 
 
 

 
 

 

Ankara Caddesi 13. Km No:77 Kestel/Bursa 

Tel: +90 224 373 10 00 Fax: +90 224 373 10 05 

e-mail: info@hasasansor.com – www.hasasansor.com 

mailto:info@hasasansor.com

